“Equal” Equations	T016 sample solution


Solution:


Suppose 


y1 = x +1,


y2 = –2x + 7;


and 


y3 = 3x –3,


y4 = –4x + 11.


The first equation is 


x + 1 = –2x + 7


and the second equation is 


3x – 3 = –4x + 11.


The first equation can be transformed to 


3x = 6 or x = 2


or to 


x – 2 = 0.


Multiplying the first equation by 3 we obtain


3x + 3 = –6x + 21.


Subtracting 6 from both sides we obtain


3x – 3 = –6x +15 = –4x + 11 –2x + 4 = –4x + 11 –2(x–2) = –4x + 11.
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